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int add_one ( int x ) { 

  return x + 1; 

} 

(define (add-one x) 

  (+ x 1)) 

Last Week 
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•
(above                    ) 

(string-append “hi” “world”)

“hi-world”

Last Week 

(+ 1 2 3 4)



class Student { 
  int ID; 
  int year; 
  string address; 
  … } 



;;  TempC Integer 
;; It represents a 
temperature  degrees Celsius 

;;   Integer 
;; It represents a 
temperature  degrees Fahrenheit 

;;   non-negative Integer 
;;  represents a  
temperature  degrees Kelvin 
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;;  TempC Integer 
;; It represents a 
temperature  degrees Celsius 

(define (TempC? x) 
  (integer? x)) 



;; A TempC Integer 
;; It represents  
temperature  degrees Celsius 

•
•
•
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(define (TempC? x) 
  (integer? x)) 

;; Any -> Boolean 

;;  TempC Integer 
;; It represents a 
temperature  degrees Celsius 
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;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 

;;  TempC Integer 
;; represents a temp  degrees Celsius 
;;   Integer 
;; represents a temp  degrees Fahrenheit 



;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 

•

•

•

(define (c2f ctemp) 
    (+ (/ (* ctemp 9) 5) 32)) 

(check-equal? (c2f 1) (+ (/ 9 5) 32)) 

(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
  (+ (* ctemp (/ 9 5)) 32)) 

; (c2f 0) => 32 
; (c2f 100) => 212 
; (c2f -40) => -40 



•

•
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(define (c2f ctemp) 
    (+ (/ (* ctemp 9) 5) 32)) 

(check-equal? (c2f 1) (+ (/ 9 5) 32)) 

(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
  (+ (* ctemp (/ 9 5)) 32)) 

;; A TempC is an Integer 
;; represents a temp in degrees Celsius 
;; A  is an Integer 
;; represents a temp in degrees Fahrenheit 

Rational 

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 



•
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Danger, Danger 





•

•
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(check-equal? (c2f 0) 32) 
(check-equal? (c2f 100) 212) 
(check-equal? (c2f -40) -40) 

(define (c2f ctemp) 
  (+ (* ctemp (/ 9 5)) 32)) 

; (c2f 0) => 32 
; (c2f 100) => 212 
; (c2f -40) => -40 (define (c2f ctemp) 

  (case 
   [(0) 32] 
   [(100) 212] 
   [(-40) -40]) 

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 



•

•

•

(define (c2f ctemp) 
  (+ (* ctemp (/ 9 5)) 32)) 

;; c2f: TempC -> TempF 
;; Converts a Celsius temperature to Fahrenheit 





Conventional Wisdom: 





big-bang

•

(require 2htdp/universe)



big-bang

• big-bang 

•
•

•

•

(require 2htdp/universe)





big-bang

• big-bang 
•

•

•

•
•

•

•

(require 2htdp/universe)

;; A WorldState is a non-negative integer 
;; represents y coordinate of a 
circle center, in a big-bang animation 



Interlude: htdp universe 

(0,0) 
x

y

??? 

1 2 3 4 



big-bang

• big-bang 
•

•

•

•
•

•

•

(require 2htdp/universe)

;; A WorldState is a non-negative integer 
;; represents y coordinate of a 
circle center, in a big-bang animation Next time 


